| > restart
| Problema MasaUno mas ligera

. . . . (H, +H,)
> Sistema = dﬁ(xl(t), t) =x;(1), dljj‘(xz(t), t) =x,(1), dsz(x3(t), t) =- Tl X, (1)
HZ HZ H2
+ M "X, (1), diﬁ‘(x4(t), t) = Vz X, (1) — Vz "X, () : Sistemay; Sistema,; Sistemas;
Sistemay,
d
E X, (1) =x5(1)
d
E xz(t) :)(?4([)
d . (Hl—i-Hz) x, (1) H, x,(1)
ar BT M, M,
d H, x, (1) H, x,(1)
(0 = - M
t M, M,
B M, = 1;M, = 3;H, =2, H, = |
M, =1
M, =3
H =2
H,:=1 2)
[ Condiciones — x.(0) — ) _ 2 _ _
> Condiciones = x,(0) = E,xZ(O) = E,x3(0) =0,x,(0) =0
Condiciones .= x,(0) = %, x,(0) = %, x;(0) =0,x,(0) =0 A3)
_> SolucionParticular == dsolve( {Sistema, Condiciones}) : evalf (SolucionParticularl, 2);
evalf (SolucionParticularz, 2 ); evalf (SolucionParticular3, 2 ); evalf (SolucionParticular4,
2);
x,(2) =0.076 c0s(0.46 ¢) +0.04 cos(1.7 1)
x,(2) =0.21 c0s(0.46 1)
x3(¢) =-0.035 sin(0.46 t) — 0.049 sin (1.7 1)
x,(2) = -0.098 sin(0.46 ¢) + 0.002 sin(1.7 1) “4)

=> plot( [rhs ( SolucionParticular, ) , rhs ( SolucionParticularz) ], t=0..20 )
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| > restart
| Problema MasaUno mas pesada
. . . . (A, + 1)
> Sistema = a’zﬁ"(xl(t), t) =x,(1), a’lﬁ"(xz(t), t) =x4(1), dsz(x3(t), t) =- T -x; (1)
(Hz ] diff H2 H2 S S S
+ | — |'x, (1), diff (x,(t),t) = —x,(t) — —-x,(t) : Sistema,; Sistema,; Sistema,;
M, 2 (%4 ) M, ! M, 2 1 2 3
Sistemay,
d
E x,(2) =x5(2)
d
Exz(t) x4(t)
ix - (H1 +H2) x, (1) H, x,(1)
dr 3 M, M,
d B H, x,(t) H, x, (1)
a0 =5 " )



> M, =3M,=1,H =2H,:=1

M, =3
M, =1
H, =2
H,:=1 6)
> Condiciones = x;(0) = L,xZ(O) = L,x3(0) =0,x,(0) =0
10 10
Condiciones .= x,(0) = %, x,(0) = %, x;(0) =0,x,(0) =0 @)
=> SolucionParticular := dsolve( {Sistema, Condiciones}) : evalf (SolucionParticularl, 2 );
evalf (SolucionParticularz, 2 ); evalf (SolucionParticular3, 2 ); evalf (SolucionParticular4,
2 );
x,(2) =0.097 cos(0.66 ) —0.008 cos(1.2 7)
x,(2) =0.18 c0s(0.66 1) +0.012 cos(1.2 7)
x3(#) = -0.066 sin (0.66 ¢) + 0.0089 sin(1.2 7)
x,(¢) =-0.12 8in(0.66 ¢) — 0.016 sin(1.2 7) )]

=> plot( [rhs ( SolucionParticular, ) , rhs ( SolucionParticularz) ], t=0..20 )
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